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100 o
fatt "
0.003 0.0003
0.0005 0.00005
0.01 0.001
0.01 0.001
0.01 0.001
0.02 0.002
0.04 0.004
0.01 0.001
10 0.1
0.8 0.08
1.0 0.02
0.002 0.0002
0.05 0.005
0.04 0.001
0.02 0.001
0.01 0.001
0.01 0.001
0.01 0.001
0.6 0.06
0.02 0.002
0.06 0.001
0.03 0.003
0.1 0.001
0.01 0.001
0.1 0.001
0.03 0.003
0.03 0.001
0.09 0.001
0.08 0.008
1.0 0.005
0.2 0.02
0.3 0.03
1.0 0.01
200 0.1
0.05 0.005
200 0.2
300 1
500 1
0.2 0.02
0.00001 0.000001
0.00001 0.000001
0.02 0.005
0.005 0.0005
3 0.3
5.8~8.6 o
REL =
RERL =
5 0.5
2 0.1

kA 4490 5H9H 6H3H 7H48 | 8A20H | 9410A | 10H9A | 1147H | 1245H | 14148 | 2H4A 3H5H
HH BiEE S 109 561 1008 1754 2691 3341 4022 4575 5429 6055 6459 7061

1| i {8 /ml 0 0 0 0 0 0 0 0 0 0 0 0

2| R - fatk Ptk Fatt Fatk Katk Bt ket bt Ptk batk Ptk

3| HRIV LR UZDLEY mg/L — 0.0003 A1 . == — | 0.0003 A | =] 0.0003 A | —— = 1.0.0003 A | = —

4 KK OZDLEY) mg/L, — 0.00005 A4 ... — ] 0.00005 A [ —— = 10.00005 K| —— =] 0.00005A | ——

5| L R OZDEY mg/L — 0.001 A o - 0.00 1A o o 0.001 A o o 0.00 1A oo

6|8h R D2 DI E mg/L — 0.001 A o - 0.00 1A o o 0.001 A o o 0.00 1A oo

7|ER K OZDLEW) mg/L — 0.001 A o - 0.00 1A o o 0.001 A o o 0.00 1A oo

8| Aflizn b mg/L — 0.002A7 o - 0.002:A1 o o 0.002.A o o 0.002A7i oo

9| i fig iR P 2 5 mg/L — 0.004A7 o - 0.004A1 o o 0.004A o o 0.004A7 oo
10| > T AAA L R OMHES T | me/L — 0.001 A o o 0,001 AT oo s 0.001 At i o 0.001 A1 o
11| FHRRRESE R R OV RREZE R | mg/L 0.9 0.8 0.8 0.7 0.7 0.7 0.7 0.9 0.7 0.7 0.8 0.8
12|79 R R OZDILE mg/L — 0.08 it o - 0.08 A7 o o 0.08ATi5 oo oo 0.08 A1 oo
13| KU OZDLEY) mg/L — 0.024:7i5 o - 0,027 o o 0.02A415 oo oo 0,027 oo
14| WAL R SR mg/L — 0.0002A1] . == — =] 0.0002A | —— = 10.0002 K0 = 10.0002A | = —
15| L4 " mg/L, —— 0.005 A7 i o 0,005 A1 o oo 0.005 A1 oo oo 0.005 A1 e
16 ‘fé:}/’%;f]i;iiﬂ/&m”k /L — |oooHi| —— ——  |ooom| —— —  |oooH| —— —— oo | ——
17| Zoan sy mg/L, — 0.001K% | . == — = L0001 = o LLO.00UR | T OO0 |
18|77 /anxFL mg/L — 0.001 A oo et 0.00 1A oo o 0.001 A o o 0.00 1Al o~
19N 7oL mg/L — 0.001 A oo et 0.00 1A oo o 0.001 A o o 0.00 1Al o~
20| B me/L, _— 0.001 AT o —= 0.001 AT oo - 0.001 At = oo 0.001 A1 -~
21 | iR mg/L _— 0.10 — = — = 0.16 —= —= 0.13 = oo 00641 ot
22| /oo ffk mg/L — 0.002A7 o - 0,002 o - 0.002A o - 0.002A4 oo
23| 7aa7R/L A mg/L _— 0,009 — = — = 0.007 —= —= 0,006 = = 0,004 =
24|V o me/L, _— 0.003 A7 o - 0.003 —= —= 0.003 A7 = oo 0,004 =
2B|YTRETARAS me/L h— 0.002 —= —— 0.003 —— —= 0002 —= —= 0,001 —=
26| SR mg/L — 0.001 A oo = 0.001 A oo - 0.001 A —= —= 0.001 Al oo
27 [k A% mg/L — 0,017 - —— 0.015 —= —= 0,013 —= —= 0,008 —=
28| M) g mg/L — 0,006 - —— 0.005 —= —= 0,004 —= —= 0,004 —=
29|7aEY TR, me/L, h— 0.006 —= —— 0.005 —— —= 0,005 —= —= 0,003 —=
30(7 HEFLL mg/L e D00 ) o e ILURU10) ) It O ILURCLOY & ) It e SO0V
31[AR/LAT LT ER mg/L i 0,008 - o 0,008 —— - 0,008 oo o 00081 -~
32| Hign e O Z DAY mg/L — 0.005A oo = 0.005A oo - 0.005A —= —= 0.005A4 i oo
3| TNI=T LR OZDILEY) mg/L — 0.03 o o 0.05 o o 0.03 oo oo 00241 o
348k R OZ DAY me/L || 0.03K% | 0.034. | 0.0374 | 0.034 [ 0.0340 [ 0.03A40 | 0,034 | 0.03438 | 0,034 | 0,034 | 0,034 | 0,034
35| 8 e 2 DAL A mg/L — 0.01 A1 oo = 0.01 A1 oo - 0.0 LA —= —= 0.01 A1 oo
36| 7N LR OZOEY mg/L i 8.6 —= —— 9.9 —— —= 9.2 —= —= 9.4 —=
37|~ W R OZEDL AW mg/L 00054 | 0.0057%1%.] 0005734 10,0057 |.0.005 418 | 00054 |.0.0057418. | 0,005 4. | 000541 | 000571 | 0.005741%.| 0,005
38 il (A me/L, 10.7 10.8 10.8 10.3 10.7 10.6 10.2 9.6 10.3 12,5 13.3 12,5
39y b2y W (L) mg/L, i 33 o o 32 - —= 31 oo oo 31 ot
40| I T mg/L, — 84 oo o 85 oo oo ik o i 79 oo
41 (B4 R TSR] me/L, i 0,027 —= —— 0,023 —— —= 0,021 —= —= 0,023 o
42|V F A mg/L. [|0.000001A| 0.000004. |..0.000004_ | 0.000004_ | 0.000007. | 0.000002.| 0.000001 | 0.000003 |0.0000014i]0.000001 4], 0.000002. | 0.000002
43| 2-AF VAV RV LA — )L mg/L_[|0.000001 41| 0.000001 i 0.000001 414 0.000001 53 . 0.000001 | 0,000001 4i#] 0,000001 4 0,000001 43| 0.000001 3% | 00000018 0.000001 i85 0.000001 At
44 | AT EE A mg/L — 0.005A47 - - 0.005A41 - - 0.005 A - - 0.005Ai -
45(7 = ) —/If me/L, i 0.0005A4H) .. —— ——...10.00054K0] . == == 10.0005K] . —— — ... 10.000540H] . —=
46 | T H) (BATHEIRFE(TOC)D ) | me/1. 0.3 0.5 0.4 0.5 0.3 0.3 0,341 0.3 0.4 0,30 0.5 0.7
47| pHfE = 7.7 7.7 7.7 7.7 7.8 7.8 7.7 7.7 7.7 7.5 7.5 7.5
48]k = B | Bl | Bl | WaEsel | Baesel | Wapsel | Baesel | Wapsel | Wapsel | Wapsel | Wil | Bael
49| 5 = B | Wl | Bl | BaEsel | Baesel | Wapsel | Baesel | Weapsel | Wapsel | Wl | Wil | Bael
50 | () i 0.5t 0.5, . 0540, | .54 | 0540 | 0540 | 0540 | 0540 | 0540 | 0.5 [ 0.540 [ 0.5KH
51| & 0. LA 01T, ). 1A, ). .14, | Q. A0, | 0. 40, | 0. 4. | . . | . A | 0.1 | 0.1 | 0. 1K
52 | FREEHI R me/L. 0.3 0.4 0.5 0.4 0.5 0.6 0.5 0.5 0.3 0.4 0.3 0.3
53 KR C 14.8 17.3 19.0 21.6 25.5 24.6 21.7 17.8 13.2 7.3 8.2 10.1




